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1. Answer the following questions by selecting the
correct / most appropriate options. The National
Curriculum Framework, 2005 derives its
understanding from
a) cognitive theories b) humanism
¢) Behaviorism d) constructivism

2. A teacher can enhance effective learning in her
elementary classroom by
a) drill and practice b) encouraging competition
amongst her students

¢) connecting the content  d) offering rewards for
to the lives of the small steps in learning
students

3. What does motivation do in the process oflearning ?
a) Sharpens memory of the b) Differentiates new

learner learning from old
learning
c) Makes learners think d) Creates interest for
undirectionaly learning among learners

4. Which of the following are the stages of
childdevelopment ?
a) Childhood b) Infancy
¢) Babyhood d) All of these

5. Which years are globally recognised as the most
critical / years for life long development forchild ?
a) 1-3years b) 1 - 6years
c) 6 - 8years d) 12- 16 years

6. Who gave the theory of socioculturaldevelopment ?
a) Erikson b) Skinner
c) Piaget d) Vygotsky

7. Which of the following is not the sense organ of
humanbeing ?
a) Neck b) Nose
c) Eye d) Tongue

8. What does peer groupmean ?
a) Friends b) People of same age

¢) Familymembers d) All of these

9. What is the most important while writing on
theblackboard ?
a) Good writing b) Clarity in writing

¢) Writing on big letters d) Writing in small letters

10. Which of the following definesadolescence ?
a) 13-19years b) 15 - 20years

c) 05 - 20years d) 20-30 years

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Who considered education as a process ofliving ?
a) Dewey b) Montesquieu
¢) Spencer d) Charles Darwin

Men's Sana in Carpore Sano' is alatin prover. What
does it mean ?

a) Asound mindina b) A sound body in a
sound body sound mind

¢) Sound mind of a d) mean should be healthy
teacher

Teaching aids are helpful because they

a) help teacher's work b) activate all sense

¢) help students to be d) make learning more
attentive meaningful

Which of the following is not included in the
educationalsystem ?

a) School b) Family

c) Parents d) None of these

Rule of learning is
a) rule of practice b) rule of continuity
c) All of these d) None of these

Being a primary teacher you should keep the pitch of

the voice

a) high enough b) moderate

c) low d) sometime low and

sometime high

Hyperactive children need

a) special attention in the b) separate classroom
classroom

c) special teachers d) special curriculum

1Q score of mentally retarded ranges
a) 35-50 b) 20-35
c) 70 or below d) 50-70

Which one of the following is the difficult age
ofdevelopment ?

a) Early childhood b) Teen age

¢) Young adult age d) Old adult age

Which of the following is not regarded as the tool
for formativeassessment ?

a) Oral questions b) Multiple choice
questions
C) projects d) Assignments

At birth head makes what per cent of bodylength ?
a) 10% b) 20 %
o 25% d 7%

Mob. - 7737404085, 8209244090

Page 2




YOUR INSTITUTE NAME WITH LOGO

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

A teacher can identify a stressed child when the child
shows the following behaviour.
a) Aggressive behavior b) Full concentration in
studies

c) Excessive talking d) Hyperactivity

Which of the following is not considered a sign
beinggifted ?

a) Creative ideas b) Fighting with others
¢) Novelty in experience d) Curiosity

Which of the following is an important stage in the
writingprocess ?
a) Editing

c) Calligraphy

b) Memorization
d) Comprehension

A teacher's most precious item is his
a) job b) pay
c) pride d) student's faith

Which of the following is not a factor ofcognition ?
a) Knowledge b) Rules
c) Problem d) Separation

Teachers use aid to make learning more
a) simple b) easy
c) interesting d) dull

Which of the following is a better way ofteaching ?
a) To persuade b) To raise a question
¢) Black - board writing d) All of these

Gender' is a /an

a) physiological construct b) innate quality

¢) social construct d) biological entity

Giftedness in children can be attributed to

a) adisciplined routine b) an interplay between
heredity and
environment

c) aresource - rich d) successful parents

environment

What are the two major natural calamities of India?
a) flood and drought b) Fire and Tsunami
c) earthquake and fire d) none of these

I have sharp, curved teeth. | don't chew my food, but
swallow it. Who am I?
a) Cow

c) Dolphin

b) rat
d) Snake

In the game of Kabaddi, there are seven players in

each team. How long does the game of Kabaddi last?

a) Up to 40 minutes b) up to 60 minutes
including a rest of 5 including a rest of 10
minutes minutes.

34.

35.

36.

37.

38.

39.

40.

41.

c) up to 60 minutes
including a rest of 5
minutes.

d) up to 40 minutes
including a rest of 10
minutes

Which of the following things do children learn by
living in a joint family?

1) Children learn good manners from elders.

2) Children learn to be stubborn.

3) Children learn by sharing things with others.

a) Had 1 b) %ad 2 3R 3
¢ Had 13k 3 d) ST gl
What are the forest dwellers called?

b) contractor
d) tribal

a) Plant man
c) Banjara

'Undhiyun’, a famous food of the farmers, is related
to which place?

a) Rajasthan

¢) Madhya Pradesh

b) Gujarat
d) Chhattisgarh

A person is going on a trip to Mirzapur. He collects
some data while traveling, try to calculate the
average speed according to these data.

1) The initial marked data on the odometer is 1233
kms.

2) The man takes 8.5 hours to complete his journey.
3) The last marked figure on the odometer is 1581.5
kms.

a) 40 km/h
c) 41 km/h

b) 40.5 km/h
d) 41.5 km/h

Which animal has poor eyesight but excellent sense

of smell, touch and taste?

a) Monkey, Elephant and
Rat

c) Elephant, dog and
monkey

b) Rat, Dog and Elephant

d) Dog, Rat and Monkey

Consider the following statements:

1. Diseases caused due to lack of nutrients are known
as deficiency diseases.

2. lodine deficiency is the most common cause of
goitre. Which of the given statements is/are correct?
a) 1only b) 2 only

c¢) both 1and?2 d) none of these

Following are some measures of water conservation.
Which is the most suitable method for domestic
purposes?

a) Rain water harvesting
¢) recycling and reuse

b) Watershed activity
d) Water quality
monitoring index

Match List-1 with List-1l and select the correct answer
using the code given below
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42.

43.

44,

45.

46.

47.

48.

T-1
()

(a) & (i) 7ier & 31U redl bl g Tl

- 1 (Far<ream)

T
(b) =@ (i) 17 ¥ TWia1 §
~(© (iil) SUFT BT GG FUB! 3G
WHDIE RIEE RIS
(iv) TS ¥ =R 7T 39S &g
(d) ST w3

b) (@) - (ii), (b) - (iv), (c) -(i).
(d) - (iii)

d) (a) - (i), (b) - (i), (c) -(iv),
(d) - (iii)

a) (a) - (iii), (b) - (ii), () -
(iv), (d) - ()

Q) (a) - (i), (b) - (i), (0) -(iv),
(d) - (ii)

Which state does not touch the border of Mizoram?
a) Assam b) Tripura
¢) Manipur d) Nagaland

Which of the following equipment is used by a
farmer in Karnataka to soften his soil?
a) Peg b) llige
c) Kurige d) hoof

Which of the following resources can be recycled?
a) Petroleum b) coal
c) lron d) none of these

Which of the following words are included in the

title of the RTE Act?

a) free but not compulsory b) Free only for poor
children

¢) Compulsory but not d) none of these

free

Which one of the following is not the core of the
thematically designed curriculum of EVS at the
primary stage?

a) food b) community
c) water d) travel
Environmental science can be described as a

sustainable investment in building a
a) variable b) positive
c) permanent d) (A) and (C)

society.

Which of the following is/are the main objective(s)
of Continuous and Comprehensive Evaluation (CCE)?
a) To make evaluationan b) Maintaining desired
integral part of the standards of
teaching-learning achievement
process
¢) Providing area for self-  d)
assessment

All of the above

49.

50.

51.

52.

53.

54.

55.

56.

Which of the following activities can help EVS
learners to encourage group work and peer learning?
a) Project on EVS topic b) Test on any topic of
on any topic EVS
¢) Stamp collection d) Group discussion on
EVS topic

Which of the following method is suitable for ‘out of
the box thinking' students in EVS?

a) performance b) group discussion

c) speech d) All of the above

Which of the following will help in shaping an
environment conducive to learning for each child in
the EVS classroom?

a) teacher b) textbook
c¢) Content and class d) All of the above
activities

Which of the following is not correct about the field

of EVs?

a) Itis meant to develop
problem solving and
critical thinking skills

b) Itis meant to enable
children to collect and
analyze information

c) It helps children in d)
enriching and
increasing their own
knowledge

It is to conduct paper-
pencil test to assess the
performance of the
children.

What should an ideal textbook of EVS include

a) formal language b) Activities to acquire
scientific knowledge
¢) informal language d) activities to relate them

to real life

What activities are encouraged by the teacher in a
constructivist classroom?
I. Experiment

Il. Project work

1. field trips

IV scene

V. Room-discussion

a) I, 1, 1IVandV

o LI, andV

b) I NI, IVandV
d) L1, 1VandV

Select the most appropriate statement to start a

class discussion on the topic EVS.

a) It tests what the b) It keeps the students
students have learned engaged.
from the media

c) It enables the students
to relate to the subject
and express themselves

d) It reduces the speaking
time of teachers

Group discussion is one of the techniques that can
facilitate

a) individual learning b) School learning
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57.

58.

59.

60.

61.

62.

63.

64.

65.

c) cooperative learning d) none of the above
What should not necessarily happen in the teaching-
learning process of EVS?
a) Address the individual
needs of each child.

b) focus on the assessment
of the children to award
them appropriate
marks.

Start with the
immediate environment
of the child

c¢) Engage children in d)
various meaningful
learning activities.

At the primary level, Environmental Studies is

integrated with

a) Social Studies and b) Social Studies and

Economics Science
¢) Social Studies and d) Social Studies and
Geography Civics

Which method of teaching is all about finding the
most appropriate way to achieve the learning
objective?

a) Lecture method b) Project method

c) problem solving method d) game method

Which one of the following is not a technique of
assessment of learners in EVS in Class I?
a) Oral test, as children b) Art, as children enjoy it.
may not be able to
write

d) There is no need for
assessment in view of
the 'No Detention
Policy'

c) observation and
recording of teachers

What it the volume of a box whose each edge
measures 3 m inlength ?
a) 54cum
c) 18cum

b) 27cum
d) 9cum

The diagonal of a cube is 273-V3 cm,then its surface
area is

a) 4354 cm? b) 4374cm?

c) 4364cm? d) 4344cm?

The next number in the series 2, 5, 8,11, ........ is
a) 12 b) 10

c) 14 d) 15

The radius of a circle is increased by 1% . How much
does the area of the circle increase ?
a) 1% b) 1.1%

) 2% d) 2.01%

The average score of a cricketer in two matches is 27
and in three other matchesis 32. Then, his average
score in all the five matches is

a) 28 b) 29

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

c 30 d) 31

The volumes of a cube and a cuboid are equal. If the
dimensions of the cuboid are 18cm, 12 cm and 8 cm
then the edge of the cube is -

a) 8cm b) 10 cm

¢ 12cm d) 16 cm

The average of eight successive numbers is 6.5.the
average of the smallest and the greatest numbers
among them will be

a) 4 b) 6.5
c 75 d) 9
If the difference of two numbers is 3 and the

difference of their squares is 39, then the larger
number is

a) 8 b) 9

o 12 d) 13

A man covers a distance of 150 m in 25 s. His speed
(inkm /h) is
a) 25
c) 23

b) 21.6
d) 20

A bus travels a distance of 480 km in 6 h. What is the
speed of the businm /s ?
a) 25

c) 9

b) 222
d) 9.22

What is the greatest four - digits number in which all
the digits aredifferent ?
a) 9876
c) 9867

b) 9768
d) 9786

What is the approximate value of 275.0003 X3.005 ?
a) 825 b) 830
c) 810 d) 835

The HCF of two numbers is 38 and their LCM is
98154.1f one of the number is 1558. The other
number is
a) 1197
c) 4932

b) 2394
d) 2384

If 3 men or 6 boys can do a piece of work in 16 days.
In how many days can 12 men and 8 boys do the
same piece ofwork ?
a) 6days
c) 2days

b) 4 days
d) 3days

The measure of an angle is twice the measure of its
supplementary angle. So, its measure is

a) 120° b) 60°

c) 100° d) 90°

At the top of Bloom's classification of objectives of
cognitive domain is

a) skill b) evaluation
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c) analysis d) synthesis
77. The nature of Mathematics is
a) ornamentals b) logical
c) difficult d) Not for common

78. The main component of curriculum development
a) educational objectives b) content
¢) teaching method d) All of these

79. The exceptional children are
a) gifted in nature b) orthopedically
handicapped

¢) learning disabled d) All of these

80. Defective questions are -
a) suggestive
c) elliptical

b) indefinite
d) All of these

81. The introductory questions should
a) be based on previous
knowledge of the
students
¢) have linkage d) All of above
82. The concept of team teaching was first developed in
the university
a) Chicago
¢) Harvard d)

b) Oxford
Delhi

83. In inductive method, we proceed from
a) abstract to concrete b) general to specific
¢) example to formula d) unknown to known
84. The longest chord of the circle is
a) semicircle b) perimeter
c) diameter d) None of these

85. The method based upon real thinking, experiments
and inspection
a) Analysis
¢) Deduction

b) Synthesis
d) Laboratory

86. Achievement test for

a) tests of minimum b) tests of maximum

performance performance
c) tests of natural d) tests of performance
performance

87. Which one of the following is not the principle
ofteaching ?
a) Exposure
c) Review

b) Fear
d) Phonology

88. Structural approach andNew approach, both are
interlinked with

a) oral approach b) Arithmetic

b) be easy and not difficult

89.

90.

91.

92.

93.

94.

c) Algebra d) Direct approach
The basic teaching model is developed by

a) Jean Piaget b) BF Skinner

c¢) Robert Glaser d) Gordon

Interaction Model of Teaching is developed

a) Thorndike b) Flanders

c) Glaser d) Bruner

( 121 - 126 ) Read the poem given below and

answer the questions that follow selecting most
appropriate option.

The sun descending in the west,

The evening star does shine;

The birds are silent in their nest,

And | must seek for mine.

The moon, like a flower,

In heaven's high bower,

With silent delight

Sits and smiles on the night.

Farewell, green fields and happy groves,
Where flocks have took delight.
Where lambs have nibbled,

silent moves The feet of angels bright;
Unseen they pour blessing,

And joy without ceasing,

On each bud and blossom,

And each sleeping bosom.

They look in every thoughtless nest,
Where birds are covered warm;

They visit caves of every beast,

To keep them all from harm.

If they see and weeping

That should have been sleeping,

They pour sleep on their head,

And sit down by their bed.

The evening star rises when

a) itis down b) the sun descends in the
West
¢) the birds leave their d) itis midnight
nests

Here, 'bower’ represents

a) a bouquet of flowers b) a potted plant

c¢) aframework that d) aframework that
supports climbing plants supports climbing plants

The poet compares moon to
a) an evening star
c) aflower

b) an angel
d) a bird in the nest

The angels come down on Earth to
a) make people dance and  b) take blessing and joy
have fun

¢) spread moonlight d) give blessing and joy
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95.

96.

97.

98.

99.

Birds nest is described as 'thoughtless’ because
a) itis made withoutany b) the occupants are a
thought sleep without any care
¢) the angels are blessing d) the birds are covered in
the birds to be happy the warmth of their
nest

Thefigure , of speech used in the line 'In heaven's

high bower 'is

a) Alliteration b) Simile

c¢) Metaphor d) Personification

( 127 - 135 ) Read the passage given below and

answer the questions that follow by selecting the
most appropriate option.
One day the King announced that he had a dream.
You know, Tenali Rama, you and | were walking in a
strange place, just the two of us. We came to a path
between two pits. One of them was filled with
honey, and the other was a cesspool, filled with silt
and garbage. The path was narrow, we had to cross
it. As you and | tiptoed on this path, we both slipped.
I fell into the pit of honey, and you fell into the
cesspool filled with silt.
All the courtiers laughed and gasped. They were
delighted that this pest, Tenali Rama, had got his
due at least in a dream. The King said further, | drank
all the honey I could and somehow clambered back
to the path. But you, poor fellow, were still
struggling in that silt. And just as you were about to
climb on to the path, you slipped and fell back,
head-first this time. Then | woke up”. All the
courtiers laughed their heads off. Only Tenali Rama
didn’'t. But next morning, he was back at the court,
this time with a dream of his own. "Yesterday, your
Highness told us a dream. Last night | had a dream,
and it continued where you left off. You climbed out
of the honey pit, and | after trying many times got
back to the path. But you and | couldn't really go
back home in that state, could we? So, I licked all the
honey off your body with my tongue, and you then
cleaned me off in the same way.
Which of the following questions did Tenali Rama
ask of the King while narrating his dream ?
a) Could we go back home b) Who would cleanme

in that condition
¢) Why was the path made d) May | continue from

narrow where you left off

Why did Tenali Rama notlaugh ?
a) He did not understand b) He was not listening
the joke attentively
¢) He himself was the d) He was telling a story
object of ridicule

Why did the courtierslaugh ?
a) Both the King and b) Tenali Rama had fallen
Tenali Rama had fallen in the pit of honey

100.

101.

102.

103.

104.

105.

106.

107.

¢) The King had fallen d) Tenali Rama had fallen

in the garbage pit

Which of the following is the meaning of the phrase

'got hisdue', as used in the passage ?

a) Got his money back b) Got back what he
wanted

¢) Was taught a lesson d) Got a sweet dream

Where did the King and Tenali Rama narrate their
dream stories toother ?
a) Inthe dream
C) inthe garden

b) In the court
d) Not mentioned in the
passage

From which point did Tenali Rama’s story of his

dreamstart ?

a) The point from where
the King had started his
story

¢) King falling in the pit

b) His falling in the pit

d) His coming out of the
pit after many trials

Which of the following is the meaning of the phrase
‘justas’ , as used in the passage ?

a) Only little b) Aslong as

¢) Whenever d) Only when

Which of the following may be the most probable
reason for the king to tell his dreamstory ?
a) He had actually dream b) There was no other
of it and so wanted to business to be done
share with others that day

c¢) Courtiers had d) The king wanted to
instigated the King to make fun of Tenali
do so Rama

At which point did the king end his story of

thedream ?

a) Tenali Rama slipped
back in the pit, head
first

¢) The King somehow
getting out of the pit

b) Tenali Rama slipped in
the pit for the first time

d) Tenali Rama struggling
in the pit

Answer the following questions by selecting the
most appropriate option.

Which of the following is most important in the
process of learning ?
a) Heredity of child

c¢) Examination result of the d) Economic condition of
children the child

b) style of learning

Correct speech habits can be developed most
effectively through

a) dictations

c) vocabulary practice

b) pronunciation practice
d) quizzes
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a) Conversation method b) Demonstration method
108. Which is a functionword ? ¢) Learning - by - doing d) Lecture method
a) Principal b) Someone method
c) However d) Booking
120. The most accurate evaluation is possible through
109. Notes can be made using a flowchart or a web a) essay type questions b) experimental type
diagram. The study skill involved is questions
a) retrieving b) gathering c) objective type questions d) conversations method
c) storing d) summarising
100. In language creative answers require 121, Sdifaf@ay omfedd wimm  enuigd
a) direct teachingand  b) content based Frafafear: wsr- (121-125)
direct questions questions
) open ended d) a highly disciplined SR STfa faerma: srfawgay oife | fau wegm g,
questions classroom ar f§ ﬁ'EIT Fud| faen E."a'lﬁl 3d: ﬁ'EITﬁERlT
AT famian: yaf~r 1 amar: faqama e wgat |
111. Conventions of writing include LIECIGICE] Wrd| 9 g9q gfa1 af|m TR
a) story ideas b) proper punctuation ﬁ'ﬂ'ﬂﬁ% ﬁ'a'a '\‘ﬁ'ﬂiﬂ:{ o= foua 1 a1 f? m
c) imaginations d) good vocabulary i add, ¥od Pa T=afa sfa smd: fra 9k
faem IRRG T WegafI faem yraw oY 9 favsad|
112. After reading a story on fish, if a teacher asks JaisfY 7 gxfa | faem wdwi S=FT ywony Sife | faen
children to answer "Imagine you are a fish in a HeUddd 99 AUt | WTW GEERCICTACKICH
pond.” What do you see aroundyou ? ' This is an yauq faenfadls: o= ugaq wafo: wdwi E’a?[
example of W@[ Gl qﬁ%l’ﬁ'UT faemerg= @'gl
a) Cloze type question b) Open - ended question W‘iﬁfﬁmml

¢) Multiple choicequestion d) Comprehension question
) Multip a ) Comp g e o : wega:?

113. The language skills that cannot be assessed through 3 ﬁﬁt{ zg ?‘-‘ZT
a traditional pen paper test are N ;
a) reading and speaking b) writing and listening T Wﬁm -
¢) reading and listening d) listening and speaking 12; Wﬁﬁ o b?ﬁera
114. A successful teacher should be ©) Aertrd ¢ Hedrd
a) of peaceful nature b) a lover of discipline 123. "I’ 37 YT fea?
¢) having perseverance d) All of these a) ¥ b) 3FH
115. The contribution offroebel in the field of educations o 9
was 124. fdn o cofaarm feaue dgaor
a) Dalton Plan b) Project method uf¥a<iag-
¢) Montessori System d) Kindergarten System a) 3faq : b) 3fGarq
c) dfdadq d) 3aSq ol
116. Whom do you deem the axis of the process
ofeducation ? 125. HI-GT: SEATA Tl UTgaf-a? .
a) Educations b) Teacher a) faqarq b) T¥IhIq
¢) Student d) Curriculum c) u‘q{a d) A
117. Mentally retarded children are generally more 126. JeNfaf@ay srufed uerizmaearsn fFafafaan:
a) indisciplined b) dedicated TYT: JHTET: (126-130)
¢) physically strong d) sensitive by W?\Ffﬁ'ﬂ'\‘l@qﬁ[mﬁﬁﬁﬁ
uﬁ%ﬁ 9Tt |1 W Udld TH: |
118. Learning by play 1@}? yq gférom g™ Hﬂﬁmﬁ@'ﬁv_vﬂ .
a) suppresses the hard b) suppresses the creative
instinct tendency g4 TEiiue gaaal aTET: FaATS: |
c) is not a psychological d) is a psychological !11?331{ 3 af: T-ITF[ﬁTF[’?
method method a) U b) [
c) @ d) e
119. Which one is the best method of learning in
youropinion ? 127. W: w: W STYT: q‘ﬁ%’)
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a) dMHn: b) Gl&mom:

c) gar d) ITRT:
128. oA Mo gqfcd $92

a) oM b) TaToH

c) Ao d) JUdreH
129. YRS §F F: UAG:?

a) ST b) Y

c) =84 d) dHY
130. P YR aférom va»

a) ST YRELEE

c) uReH d) T
131.  GETRNI®A: 9g9d $F €x9d -

a) SUHRT b) RIS

) fgreha d) 3raNTaTe
132.  GEEAIT:+TT 3 AR Hoy:

a) M- TG b) THFEAIG

¢) THFEHIA d) TR

133. Tagmy o wRifasde: weofig: -

a) f+am b) fe+amy

o) feg+am d) fag+am
134. eRErAguNe-

a) SdYE b) fa1l

¢) &% d) HHYRY
135. OgHE AEUER -

a) a1 b) HHYRY

c) 3gfiumg d) sgdife
136. Taffifirg: 3= ol uera: of¥ -

a) fSfm+y b) TTH+&Y

c) nmw d) TH+3
137. '3QdR: 4T F: UUY: -

a) 9o b) 39

c) 81 d) &d
138. Afq I fEdiamT: agao- FUAfE -

a) b) Hfe:

) " d) Hfaq
139.  Y@ifya uey wufAmfor swoftaw

TRRY TF: I[H:?

a) @I b) @

c) B d) fmg
140 31fgd Uy wyf~aior Heoftad

e T g’RY:

a) &9 b) &

c) foq d) PHIq

141. g fafdr: of¥ -

a)

OIREEIEID:

142.
a)

c)

143.
a)

c)

144.
a)

c)

145.
a)

c)

qmgﬁmﬁ b) aﬁ:@ﬁ[
d) :

ArITRISURY HaHT Ugfa: $T -

T T- S T: b) TRI-3{HITY:

FHTEt IHag: dy od

& RraoREH S -

Hdiard ufd b) WA Hfd Tfd
T fa=eryot ufa d) gacuds ufd
URTRI® ¥ B FRTYRIT YT 199, -
EIGIGEERIGREIGE b) SFIMAT db TRy
USRI d) TRAN B+ Ui

ME® gdemar: Iwah: &: -

TG YT e b) IR TR
RIS Tk T d)  UfeEiy AR
Ry geaieaw ITAREar e -
A AR b) SfferTHT TR
94y d) I
SRS RIemar: Uy =y $if -
faermera: b) URAR:
T d) TRY

U SAIsw fRufa: Fresht wrqe
IR EECK| b) TRIIGAq
SHTeRgyad d) "qad

Txpa Rrgonuantt Rigraaf -
w@rTdsarn: g b) ¥ Rrgra:
[ERIRIGEIRIE d) Sudaayaq
YISRPR TGl U ATH v -

afafe: b) WENT UG
3gdTe ugfd d) SR UGfa
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